TECNOI.\UTOI\W ISO 6431 FRESIIREMY Aes
ISO 6431 Standard Cylinder Accessories
ASESORAMIENTO Y SERVICIOS
it gL 3 Symbolars %2 40 S0 63|80 /100 125 160
%,i ‘ AA 158 179 190 200 | 248 266 200 340
‘:‘; AC 142 161 170 185 | 210 228 250 300
AC AD 8 |9 | 10| 12|19 |19 |2 | 20
AR AE 47 | 53 | B5 75 | 95 | 115 140 | 180
i AF 32 | 36 | 45 [ 50 |63 [ 75 | 90 | 15
N D [ sow | &)Elm AG 24 | 28 | 32 | 32 | 41 | 45 | 45 | 80
Jo ng’ | @ i AH 32 | 36 | 45 | 50 [ 63 | 71 | 90 | 15
i — AP 7 9 12 | 145 165 185
ISO-LBE!(Type) ¥ 2¥(Foot Bracket) AT 3 3 | &) &) @
'i;— —‘E- S)ﬁnE;ﬁIBfrs 32 | 40 | 50 | 63 | BO | 100 | 125 | 160
s 47 | 53 | B5 | 75 | 95 | 115 | 140 | 180
=] T 325 38 465 565 72 | 89 110 140
™~ e DC 22 |25 | 2r | a2 |36 | 41 | 50 | 85
s DD 9 |12 | 12 | 16 | 15 | 20 | 25 | 30
N DE 0 | 12 | 12 | 16 | 16 | 20 | 25 | 30
'—Jf @ DE DJ 15 | 96 | 1T | 22 | 22 | 27 | 3% | 355
ISO-CAB! (Type) & (Single Earri:gl DQ 258 278 317 397 497 | 59.7 69.7 89.7
. Sfﬂiﬁgg@ 32 | 40 | 50 63 | 80 | 100 | 125 | 160
CC‘j : GG 22 | 25 | 2z | 32 [ 36 | 41 | s0 | 65
CcD 9 | 12| 12|15 |15 |20 25 | 30
E CE 10 |12 [ 12 | 18| 18 | 20 | 25 | 20
[ By cJ 13| 16| 11| 22 |22 | 27 | 31 |9355
) co CP 26 | 28 | 22 | 40 (50 (60 | 70 | DO
g @CE cT 45 52 | B0 70 | 80 | 110 130 170
Fre i PA1 51 | 59 67 | 77 | 97 | 119 139 181
u/iﬂJ@ PB1 PB1 455 525 605 70.5 805 1105 130.5 1705
s 47 | 53 | B5 75 | 85 | 115 140 180
: T 325 38 465 565 72 89 110 140
ISO-CB&(Type) ME(Double Earring)
el 22! [|kan (| Teor | e |l 6o |10
A 6.6 6.6 9 9 1 1
B 1 1 15 15 18 18
BG 18 22 30 35 40 50
BH 31 35 45 50 60 70
BI 21 24 33 37 47 55
BL 8 10 105 12 14 17
BM 32 36 45 50 63 71
BN 38 M 50 52 66 76
BO 51 54 65 67 86 96
BS 12 15 18 22 20 20
BR 20 22 26 30 30 38
c 1.6 1.8 1.6 1.6 25 25
‘ilt: D 10 12 12 16 16 20
‘ e F 105 | 105 | 105 | 105 | 105 | 105
1SO-SDB #(Type) |__EN_.| G 3 3 3 3 3 3
BQ 25 28 32 40 50 60

HIDRAULICA - NEUMATICA - ELECTRONICA |
(O 1135852811  “@* 1142411370. 1142254987

www.tecnoautomat.com
Direccion Rio de Janeiro 2740 Lanus Bs.As.

200

380
320

220
135
70
135
24

200

220
175

AEIEEIE:

1256

14
20
60
90
70
20
90
94
124
30
45
3.2
25
10.5

70



TECI\IOI.\UTON\W ISO 6431 FESIIREME AG6

ISO 6431 Standard Cylinder Accessories
ASESORAMIENTO Y SERVICIOS

‘5 = Sﬁ,ﬁ;ﬁgﬁﬁ 32 40 50 63 80 100 125 160 200
AJ M| 1| 14|14 |17 |17 | 19| 25| 25
:E = AK r |7 e le | n|lul]w]r
T —§ BA 305 355 405 455 455 555 605 655 755
e | BB 10 | 10 | 12 | 12 | 16 | 16 | 20 | 20 | 26
© e ® @ BC 47 | 53 65 75 95 115 140 180 220
/‘—\\ g BD 32 | 36 | 45 | 50 |63 | 75 | 90 | 115 | 135
\ / BE 80 90 110 125 154 186 224 280 320
@6 | e o) BF B4 72 90 100 126 150 180 230 270
= Ew 7 BH Z a2 @ | & @&]8 & [«
BP 9 9 (125 145 165 185 24
ISO-FA/FE&!(Type) & = 4f(Flange) T on| 20 |ass (a2 | s | %0 | 340 | A7
€5 o e 32| 40 | 50 63 80 100 125 160 | 200
"y . EE-04 _ EG| EB 100 13 125 140 160 182
e EC 52 | 63 | 74 80 105 128
1 1 ' ED 325 38 465 565 72 89
: m EE s2 | 83 | 75 | 50 105 128
| 3% ¢ EG 25 | 25 [ 25 | 25 | 25 | 28
! R 2 | ; EP 12 | 16 [ 16 | 20 | 20 | 25
| 1 s s ET 20 |22 |2 |28 | 28 | 4
COeo HC 37 | 45 | 55 | &8 | &7 |1075

ISO-TC B(Type)h {&(Central Trunnion)

1ISO-Y & (Type) &k (Joint)

ND

N NG
J /ﬁ

P11
|

NM

|| "R
1 ®Type
ISO-Y+4§F(Pin) 1SO-Y+F40(Clip)

sﬁ‘ﬁéﬁgﬁe 32 40 50 63 80 100 125 160 200

NA 19 254 32 32 44.4 44 4 55 70 70

NC 10 12 16 16 20 20 30 35 35

' ND 40 48 64 64 80 BO 110 144 144

NE 52 &7 B89 89 12 112 155 201 201

NF 15 24 32 32 40 40 80 50 55

NG 20 20 23 23 30 30 56 72 72

NH M10x1.25 M12x1.25 MI16x15 MI16x1.5 M20x1.5 M20x15 M2Tx20 M3IEx2.0 M3IEx20

. MNM 10 12 16 16 20 20 30 35 a5

NP 20 24 32 32 40 40 54 72 72

ISO-I #(Type)#&:kiJoint) NQ 52 62 83 83 105 105 148 191 191
PA 26.2 328 39.3 39.3 533 533 64 80 80
PB 20 26.5 33 33 45 45 556 70.6 706

HIDRAULICA - NEUMATICA - ELECTRONICA | www.tecnoautomat.com

(O 1135852811 “Q~ 114241 1370. 1142254987 Direccién Rio de Janeiro 2740 Lantis Bs.As.



TECNOAUTONV)

ASESORAMIENTO Y SERVICIOS

ISO 6431 IFESIIREM G
ISO 6431 Standard Cylinder Accessories

A67

o S oolee MA MB MC MD ME MF MG MH| M MK

— 32 58 (22| 7 |21 | 26 |15 7 | 10 [M10x1.25| 12

_Ll,‘.'“/“ 40 58 22 B |21 28 |15 8 12 [M12x125 12

Iowasensas i1 - 50 9 27 10 41 445 20 10 17 | M16X15 7

— 63 9 27 10 41 445 20 10 17 | Mi6x15 7

80 102 20 13 46 53 24 13 22 | M20x15 10

— 100 102 29 13 46 53 24 13 22 | M20X15 10

= — 125 147 | 54 | 13 | 64 62 | 39 | 14 [ 30 | M27%20 | 9

160 251 72| 22 115 80 80 18 36 | M36x2.0 4

ISO-UJ B (Type) 200 251 72| 22 115 80 80 18 36  M36x20 4
iZ 5h#E ik (Float Joint)

Sﬁnﬁéﬁgie PA PB PC PD PE  FPF PG PH

32 1 26 | 10 | 21 | 43 | & | MI0X1.256 | 13

40 12 | 30 | 12 | 24 | 50 | 65 | M12x1.25 | 13

. 1 B 50 15 | 28 | 16 | 33 | 64 | 83 | MIBX15 | 15

l | o a4 h 63 15 | 38 | 16 | 33 64 | 83 | M16X15 | 15

9 ) a 80 16 | 46 | 20 | 40 | 7T | 100 | M20X1.5 | 15

§ 100 18 | 46 | 20 40 | 77 | 100 | M20x15 | 15

ISO-PHS #(Type) 125 KT} 70 30 51 110 145 | M27x2.0 15

fa B 1% 3k (Fisheye Joint) PE 160 43 | 80 | 35 | 56 125 | 165 | M36x20 16

200 43 80 35 56 125 166 M38x20 16
FRESIREMG

Standard Cylinder Accessories
___________________________________ T E/51

T P Si;”gom‘fre 32 | 40 50 | 63 80 100 125 160 | 200

AA 153 | 169 173 184 198 210 249 328 380

- Eﬁ AC 134 | 140 148 158 167 174 213 288 320

Ah+ AD 95 (145 12 | 13 | 16 | 18 | 18 | 20 | 20

_q} AE S0 | 57 88 | 80 | 97 | 12 140 180 | 220

| AF 33 | 36 | 47 | 56 | 70 | 84 | 90 | 115 | 135

[[NAP_ AG 205|235 28 [ 31 | 30 | 30 | 45 [ 60 | 70

AJ 28 | 30 365 41 | 49 | 57 | 90 | 115 | 136

LBE(Type) ‘EJB' AP 9 |12 12|12 14| 14]186] 18| 2

* %2(Foot Bracket) AT 3 3 3 3 4 4 8 8 10

= Sjﬁéﬁgﬁe 32 40 50 | 63 80 100 125 160 200

BD | H BA 283 | 323 383 383 473 473 56 63 81

) Y BB 10 | 10 | 10 | 12 | 16 | 16 | 20 | 258 | 28

m | _@_ BC 47 | 52 85 76 | 95 115 140 | 180 | 220

i BD 33 | 36 | 47 | s6 | 70 | 84 | 90 | 115 | 135

s - i & BE 72 | 84 104 116 | 143 | 162 | 224 | 280 | 320

@k\-—j _@_ x BF 58 | 70 86 98 | 119 138 180 230 270

i)  4-$0P BH 65| 65 65 85 105 105 15 20 | 20

2z & AJ 105|105 135|135 5 | 5 | 19 | 25 | 25

AK 65 | 65 | 65 | 85 | 10.5 | 105 | 125 | 165 | 165

FA/FBE(Type) BP BAEAEREEREREREIEDRE::

EZ#E(Flange) T 33 | 37 | 47 | 56 | 70 | 84 | 110 | 140 | 175

| ce 1Iso9001

HIDRAULICA - NEUMATICA - ELECTRONICA

(O 1135852811

“Q~ 114241 1370. 1142254987

www.tecnoautomat.com

Direccion Rio de Janeiro 2740 Lanus Bs.As.



TECNOAUTOI\W PSR AT0
Mini Cylinder Accessories

ASESORAMIENTO Y SERVICIOS

B € +§7 1§(Stroke) b C+i7 (Stroke) BC
— 8D
= e
- i oo
~ 4 w| - ot - !
- R [ s a @ || EE PRESEERIEY | B (35 m g
. L
I |
M-FA (Type) [[z-é8p. B8 2ify
3 % i (Flange) $16~025 $32~440  |[seBP
e (¢} C{MSA R 5{/Series) |C(MSAL R¥!/Series)
B BC | BD | BE | BF | BP
Symbol/Bore MA % ¥i(Series) MAL &¥(Series) 0-50 | 51-100  0-50 51-100
16 38 60 - 60 85 3|26 52 40 55
20 40 76 70 76 101 70 95 4 38 - 64 50 65
R R 25 44 76 70 76 101 70 a5 4 38 64 50 B5
-FA- ype)
# 2 i (Flange) 3z 44 76 70 76 101 70 a5 4 |47 | 33| 72|58 |68
40 46 76 92 76 101 92 "7 4 50 36 84 | 70 65

B RABERR XA TR NEE S, MREVERES R, KELEITHEBEMLE-A, IN-FA-32-A
Our company can also provide this used for mini cylinder flange, if you need, pls add A after all ordering code, like M-FA-32-A

B E
i » Jan)
t}, AQ LY P o
A8 | M E
v LIl Ll 1
[=
AL A-h AP q:]
AC+ AF
M-LB H[T‘fp‘] Al AE
L %(Bracket)
= AA AA AAMSA | AA(MSAL AC AC | _AC(MSA | AC(MSAL
Sﬁm‘;lrﬂiére B F {m'ﬁg]“ =MAL§§|III B HliSeries) FJiSeries) AB {MAE;']I [m§,;f§§l]159nesl E 5l/Series) AE | AF | AL |AQ |AP | AT
STIRCE Series)  Serles) (.50 51-100 0-50/51-100 Series) ~ Series) 0.50 51-100/0-50 51-100
16 38 16 98 - o8 | 123 - - | 28| 86 - g6 111 | - - |44 |82 |13 | &8 |85 | 3
20 40 12 122 16 122 147 116 141 25 106 100 106 131 [100 125 54 40 15 8 65 3
25 44 14 122 16 122 147 116 141 29 106 100 106 131 |100 125 54 40 15 8 65 3
32 44 14 142 136 142 167 136 161 19 126 120 126 151 (120 145 59 45 25 8 65 4
40 46 14 142 158 142 167 158 183 21 126 142 126 151 (142 167 64 60 25 8 65 45
CB+Stroke D cO
PA -2 g
=B T i
i ; _& )
4- 4 CP
: g e
M-SDB 8(Type) G CA
¥ % (Bracket) cD CE
Fre/aiE CB(MA = CB(MAL o 2
S:r‘? D S Q CA Faﬁli.féaries}ﬁﬂa’{&arias} (MSA B 5/Series) (MSAL F5/Series) CD |CE |CF |CH |CT |CP |CQ |PA
ymbelEore 0-50 @ 51-100 | 0-50 51-100
16 1w 9| 12| - 107 . 107 132 B = 23 | - |12 |20 |23 |55 [185 |21
20 21| 12| 16| 51 128 122 128 153 122 147 |48 |67 |32 |32 | 3 |65 |22 |27
25 21| 12| 18| 51 132 126 132 157 126 151 48 |67 (32 (32 | 3 |85 |22 |27
32 27| 15| 16 | 51 135 129 135 160 129 154 82 |67 |36 |36 | 4 |65 |24 |30
40 27 15 20 55 137 153 137 162 153 178 56 |71 |40 |40 | 4 |65 |28 |34
HIDRAULICA - NEUMATICA - ELECTRONICA | www.tecnoautomat.com

(O 1135852811 “Q~ 114241 1370. 1142254987 Direccién Rio de Janeiro 2740 Lantis Bs.As.

16
12
14
14
14

AH

20
25
25
3z

PB

17
25
25
245
285



) 4
TECNO’\UTDW SR A71
Y Mini Cylinder Accessories

ASESORAMIENTO Y SERVICIOS

M-Y 8(Type)i&k(Joint)

g s

mz

o
ME X 1

412

: ‘{‘uunnu

16

= e
-
-'f

“
|
;E
E

M-Y+§§F(Pin) M- Y+-E1ﬂlt:|ip:

NF I NG NH

: j“_’f?:

bNL

'

. Iz

— o
SNK

N 420~ 424
s NG
M-I B (Type)# sk (Joint) - . -
7 S/51{#Symbol/Bore NA | NC ND NE | NF NG NH NJ NK NL NM NN | NP NQ PA PB
20 16 8 30 | 40 11 15 | M8x1.25 10 16 14 8 8 15 40 | 21 | 185
25 19 10 40 52 15 20  M10x1.25 12 20 18 10 10 | 20 §2 | 25 | 195
32 19 10 40 52 15 20  M10x1.25 12 20 18 10 10 | 20 52 | 25 | 195
40 254 | 10 45 57 15 25 | M12x125 | 15 24 23 14 10 20 57 3 26
- -y -. BU
- ' % | I
] ; 1
L x " 8
n 1 Sxdb T
c BT CH '
»
M-U & (Typel
% % (Bracket)
52 /51{2Symbol/Bore B E c H L N o] S G BT | CG CH BU s
8/10 45 4 125 | 24 20 8.1 13 5 25 4 14 a7 0.5 17 | 0.2
12116 5.5 6 15 27 25 13 18 6 19 5.6 0.8 24 |04
20/25 6.6 8 20 295 32 161 24 10 8 252 715 09 295 05

Cylinder Special accessories
Hoa A AT R ER SEERES

4 - FLECHF, BAVESRMBEREMBE

. 3 B an R I E.
Our company can customize all kinds
of non-standard cylinder accessories

acco-rding to your drawing or sample.
CA with Bearing

HIDRAULICA - NEUMATICA - ELECTRONICA | www.techoautomat.com
(O 1135852811 “Q~ 114241 1370. 1142254987 Direccién Rio de Janeiro 2740 Lantis Bs.As.



TECNONUTO

ASESORAMIENTO Y SERVICIO

R

Magnetic Switches

#1#% Specification

i 7 S/Product % 3¢ /Contact Type W e | RtiDiameter  iEM=ALRMJoint Pipe Bore
EESHEE BEBRATEESIE NFSE
Cs1-s Amagnetic reed switch contact ST | golf_iT‘i’e-fﬂd‘CY“ﬂde' Round
ylinder
18 /% B HNPNi @E“"-
o /B an ENPN
Sl Contactless NPN transistors _L 24—
5~30V DC O
Cs1-spP T A/ 5 TP NP T
Contactless PNP transistors
EREMEE i AT RS
Cs1-J Amagnetic reed switch contact 5~240V DC/AC For:Thin Type(compact)cylinder
CS1-JN To 1% S/ S ANP NI H
Contactless NPN transistors
.- 5~30Vv DC
e T 4% /6 8 kPN P i
Contactless PNP transistors
LE PAB B Pl EERE PN Eﬂzyzl
cs1-U Amagnetiﬁc%egiffﬁlﬁ contact 9240V DCIAC siootbot)""Geves) " sl bet)
\ o= Ellll'-
CS1-UN ’ 7o 1% S/ & KNP N &
.. = Contactless NPN transistors ol
<> savoc [ [ Q
Cs1-up T HE S/ @ RPN P PM -ax; PAC ﬁml
Contactless PNP transistors (Fmd'évicgar?mg (Fmggsl“gan;pmg
BlEAMEE
cSs1-M Amagnetic reed switch contact 5~240v DCI/AC . .
i i 1y
F——20.0 ——=i = T
— T 1% fa/8 8 AANPNifi - oo
Contactless NPN transistors A_E -
5~30V DC —r
CS1-MP To 1% M/ B AP NPH & &M F:FESTO
Contactless PNP transistors FOR:FESTO
-5 /Model ™ f/Product i B 3 /Metal strip model 7 & [§l/Sketch map
BK EE# A5 BK %31 PAB PN %3
oo BK fixed metal band series BK Series PN Serles
B 4 |
Fixed 4 PAB [& £ # 1
metal E— PAB fixed metal band
band Sssnsnen
PN EIE & &5
PN fixed metal band series
S /Model 7= f/Product * AAX/CLAMP MODEL 7 #E/Sketch map
Pl &R EF
Pl fixed Clamp series Pl %51 PAC PM %31
. x i Pl Series PM Series
e Eh | PAC %X R ——
: PAC fixed Cl 70
Clamp v F;’ IXe amp D ’ b.‘
-

PMER R
PM fixed Clamp series

HIDRAULICA - NEUMATICA - ELECTRONICA
@ 1135852811 <@~ 114241 1370. 1142254987

www.techoautomat.com
Direccién Rio de Janeiro 2740 Lanus Bs.As.



